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B.Tech., III Semester

Examination, May 2019
Choice Based Grading System (CBGS)

Mathematics-111

Time : Three Hours
Maximum Marks : 70

Note: i) Attempt any five questions. ®
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ii) All questionscarrye arks.
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iii) Draw neat sk @\l required.
A& WA & ael W2 fua Tl

iv) In case of any doubt or dispute the English version
question should be treated as final.
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1. a) Find the real root of the equation xlog;ox = 1.2 by
bisection method correct to four decimal places.
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b) Find a real root of the equation x = ¢~ using the
Newlon-Raphson method.
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2. a) Solve the following system of equations by Crout's
method.

wrae ffy zm Ffataa wiwo FEm & aa /2
X+y+z=3

2x—-y+3z=16

3x+y-2=-3

b) Find g'x atx = 0.1 from the following table:
X

Fpiferfem At @ x=0.1 ® ;—’*maaﬂﬁrm

x: | o1 | 02 | 03 [ 04 |
v | 0997509900 | 0.9776 | 0.9604 |

3. a) Using Euler's method, compute y(0.04) for the differential

equation.

i‘.
%:_ y, y(@=1 Take h=0.01
dx

gert A M 9, (0.04) W HA FEFAA T

i .
:_J"=_y, y(0)=1 F fow &l 71 @ 4 =0.01

X
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b) Given that ;,—'r= logp (x+y), y(0) =1, find y (0.2) using
modified Euler's method.

dy
a2 e

y(0.2) ® 5F @ HiFAG

= logyo (x+y), v (0) = |, Helferg gaw a4 2
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Find the Laplace transform of
=1 /1 AT B S i

1 0<t<?2
=2 2<t

f(r)={

Write three properties of Laplace transform.

AT FYT=RYT &% o Jon &l fefa)

What do you mean by Probability Density function?
STl T e @ A A2
Explain the Binomial Lhar%% in brief.
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The following l&@ls given
Frafeifaa anferemt T 2
x: 0 1 2 5
¥ 2 3 12 147
What is the fornvof the function?
Gl & B9 87

dx
1+ x*

|
Evaluate .[n using

1
Simpson's = rule taking h:i

3
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If 10% of bolt's produced by a machine are defective.
Determine the probability that out of 10 bolts, chosen at
random (i) 1 (ii) None (ii1) at most 2 bolts will be
defective.

u w2 TanfeE A # & 10% Swgol 81 10 9 |
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3
by using Simpson’s 7 rule.

Eval Jﬁ &
valuate 8

0 14 x*

3 6 dx
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The random variable X has a Poisson distribution if
P (X=1) = 0.01487, P (X=2) = 0.04461. Then find
P (X=3).

AR W X IEEA o ueE = 21 gl

P (X=1)=0.01487, P (X=2) = 0.04461 @9 P (X=3) =1
qH T F

Find the Fourier transform of

1 for |xj<a
0 for |x|>a

5 &1 A TG

f(x)={
WA I T F

{1 ﬁil[xlc:a}
f{x)=
0 Grﬁllxl:ba
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